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=4
T i‘o o B3 HE Al
S= M3le MOIE

W= 2139 9= [bits/sec]
Hs = 8ICI B30 2I9EHY IS A= A2
F= 81 B22 (9 &g

mr= 229 {2 Alis Mg Ze

Tr= E22 o HM HE Al2

R = 2= &0 Hdl2 A2

Nie=¢g8 ZE kZ2 S0H2= B 3! s

T = 28 ZE o RUIAM & W20l 202l HE A2

Mij= ¥ ZE ifd &8 ZE |E 0ISsle B39 ED M= [flits/cycle]
pij = B E30| ¢ ZE MM |E 52 228 &E

bij= g2 ZE fiM &3 ZE |Z 0|8 M CE S=0 2l

Hij = 8 B30 28 TE illAd 38 ZE |2 0ISE Il 580

Can= B3 ZE (9 18 JI& HE0AM SS0| UHE 28

Ciz= 2% ZE (9 2719 J4 MEMA S50 Lag S8

TI_REQ= EE% {0l 2% S7 HNE AlZh
d==E I ¥s
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Eds

B g
=gt B

ay= 2 AEF) _Eq2

res
230 My
b= telmEEae i ¥ _gqy
S "
- S 5, —Eo4

5E B W.EN, TLE= 0

Hy=¥=p _—_EQ5

TE= 3 (pyxb)

i lE Wosan Tl —EQf

G- __gqy

G=2=H1-H) _gqs

g
Ay = —T_J —EQ8
i 2 N1
=INFTO 5 +T¢:—5 548 —EQI0

258

ﬂ(z—TA-—TAﬁ-’—ﬂﬁﬂ—E)}=RN-—’—
zh, CE 3 ‘ it Es,

—EQ11

2R

T TarE, —Eel

Trs fmaxl =) —EQI3

=6

on

Given :
F

Yf € F: Hs, SI, M, T _rEQ
Ylink j, assign link bandwidth 400MB
Vi & F: Tf < Tf reg

Ylink j : 400MB < Wij

min EW’-&;
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on

EH7
1) foreach link e :
2) We «- Wy
3) end foreach
4) foreachlinkf € F:
5) Tf <- Delay Model { We, Hs, 1)
B8) while (Tf > Tf_rEq)
7) foreach link ij € =@y :
8_} Y"L-rf i "= 1“\"1.;' + t'l
9) 7fij <- latency model ( Wij', f )
10) end foreach
11) ij' = function(rLijr )
/* Jt& 2 delayE JHXl= ij*/
12) ‘AT‘,-_J- E— YVJ,' t o
13) end while
14) end foreach
EH8
L= S Al HH (=
EER ydxs 20| HAEE | XAAZE
[uSec] [flits] [Mb/sec] [uSec]
01—12; 01—10;
03—01; 10—01; 06.67 500 120 10
12—01; 20—03
01—00; 12—22 66.67 500 120 5
22-01; 23-+13 33.30 500 240 10
01—13; 21-01 500 500 16 10
00—01 16.67 500 180 5
01—+02 16.67 500 180 10
01—21 5000 500 1.6 15
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